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Knhjfmebjmcl_ jzZkij_~_ebl_evgh_ k\hckl\h mfgh _gby hlghkbl_ev
Knhjfmebjmcl_ khqg_IZl _evgh_ k\hckl\h mfgh  _gby

AZibkzZlv wib k\hcklI\Z gZ “hkd_ k ithfhsvx [md\

LZd dZd mijhs_gb_ \ujz  _gbc fu k_]Jh”gy [m~_f ijbf_gylv ijb j_r_gbb n
hij_~_ e _gby mjZ\g_gby dhjgy mjzZ\g_gby b ijZ\beZ dZd gZclb g_ba\_
\ugblz_fh_ fgh bl _ev "~ _ebfh_ "~ ebl_ev
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J rblv mjZ\g_gby b ijbf_ju ih ihemqg_ggufvhkhHRf IKkilj\mxsl_ [md\u ih
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9, Kzfhklhyl_evgZzZy jZ[hlZz
\ZjbZglZ ih mjZ\g_ghbc

\Zjbzgl \Zjbzgl
2l1x+x—13 =53 24 +x—56 =44
(Gx—2x)-4=120 (5y—3y)-6=120
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